
F (x) = U(x) ∧ S(x) ∧W (x) ∧ E(x)

U(x) =

 ∧
0≤i,j≤p(|x|)

σ 6=σ′

(x̄ijσ ∨ x̄ijσ′)

∧

 ∧
0≤i≤p(|x|)

j 6=j′ or l 6=l′

(ȳijl ∨ ȳij′l′)

∧

 ∧
0≤i≤p(|x|)
1≤l≤|A|

(ȳi0l ∧ ȳi,p(|x|)+1,l)

∧

 ∧
0≤i≤p(|x|)


 ∧

1≤j≤p(|x|)

∨
σ∈Σ

xijσ

 ∧
∨

1≤j≤p(|x|)
1≤l≤|A|

yijl



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F (x) = U(x) ∧ S(x) ∧W (x) ∧ E(x)

S(x) =

 |x|∧
j=1

x0jx(j)

 ∧ x0,|x|+1,$ ∧ y011

E(x) =

p(|x|)∨
j=1

yp(|x|),j,|A|
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F (x) = U(x) ∧ S(x) ∧W (x) ∧ E(x)

W (x) = W ′(x)
∧

0 ≤ i < p(|x|)
1 ≤ j ≤ p(|x|)
1 ≤ l ≤ |A|

Wijl

l : if σ then (σ′; o; l′)

Wijl =(x̄ijσ ∨ ȳijl ∨ xi+1,j,σ′) ∧ (x̄ijσ ∨ ȳijl ∨ yi+1,j+o,l′)∧∧
τ 6=σ

((x̄ijτ ∨ ȳijl ∨ xi+1,j,τ) ∧ (x̄ijτ ∨ ȳijl ∨ yi+1,j,l+1))

Wij|A| = (ȳij|A| ∨ yi+1,j,|A|)

W ′(x) =
∧

0 ≤ i ≤ p(|x|)
σ ∈ Σ

1 ≤ l ≤ |A|
j 6= j′

(x̄ijσ ∨ ȳij′l ∨ xi+1,j,σ)
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